
A flat plate capacitor has a surface of 100 cm2 (square plates)
the distance between the plates is 1 cm. 
a glass slab (          ) is partially inserted in the capacitor by an
amount of 5 cm. a charge of 10 uC is stored in the capacitor. 
the fringe field effects can be considered  negligible. 

1) calculate the fields                between  the two plates of the
capacitor (inside and outside) the dielectric slab.

2) calculate the capacity of the capacitor

3) calculate the energy stored in the capacitor 

4) calculate the force acting on the slab and indicate the direction 
of the force

neglecting  the fringe field we can consider the system as
two separate capacitors 

















the force is positive if the system evolves in the direction of 
increasing x coordinate.

the capacitor naturally attract the glass slab towards the center
of the capacitor because this is the configuration of lower 
potential energy


